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aqut go7 7T & | 3 F7-77 § FT 27 97 & | F97-97 qier @vel g
fayifsa & 1

GUS 37 § Y97 G&IT 1 -5 TF Y% J97 U 37 F1 & | Y% J97 F I
20 vsg] @ 371 757 &7 05T |

GU8 § H Y97 &I 6 - 10 7% Iod% 97 g 3HH #71 & | Icdh J97 & I
40 752 G 37feres 787 &1 =IeT |

GUE T § J97 &7 11 - 16 T JI% I3 AR 3HH &1 & | Id% 97 &7 I
100 3551 @ 37ferw 787 g1 =15 |

GUE 7 § I3 G&IT 17 - 21 T I §97 Gidl 37h] &7 & | Icdeh 97 & T
150 7531 @ 3718 757 1 T30 |

G 7 § ¥o7 gEgr 21 HARE W OEGIRT 94 & | $E9F IR I
FT-GiEdT 4 1e7iEe |

GUS T § Jo7 &7 22 — 27 T I9%F ¥ D: bl FT & | I9F I3 HT I

150 155 @ 3718 757 &7 T3T |

General Instructions :

)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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Qs A
SECTION A

1. T=faRead o @ -8 e e ey % ded 4 &gt 757 § ? 1
() 39 3AISIe A 79 T a2l bl T2l & 1T T shi el G |
(i)  9Ra ! Te-fderar <1 Hfifd 7 a1 Ferrcas off 3K T & g |
(iii) 9Ra <t e Hifa T ara & faat B @ 3 g
(iv) Hifodd 99 o @19 &= 9fY 0 gEaie ek e-ug IATeieH i Heled
T % fow e < g g |

Which one of the following statements is ‘mot correct’ about the
‘Non-aligned Movement’ ?

1) It suggested to the newly independent countries ways to stay out of
alliances.

(i1))  India’s policy of non-alignment was neither negative nor passive.
(iii) The non-aligned posture of India served its interests.
(iv) India was praised for signing the treaty of friendship with USSR to

strengthen NAM.
2.  AHaTEeRRi 6t @ % foru Al g areft forelt teh STaRisiT ween 1 A
fafeT | 1
AT
USRI QT ST o 99 TAd ¥ o T Wl fohEl THh TIEm i I i
AR ST | 1

Name any one international organisation that campaigns for the

protection of human rights.
OR

Highlight any one security challenge faced by the newly independent
countries of Asia and Africa.

3. ‘GEE weg Wi 31 T HIWT | 1
HAAAT
‘AT AT o GEF 3T i T HINT | 1
Explain the term ‘Hegemony’.
OR

Explain the main objective of the ‘Marshall Plan’.
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"
e

“ara o dear MR it feredt & faem & wry & ase-fmtor f gfsean @ e
T8l g |7 38 HUA o TN H g Teh IGET QT | 1

“The process of nation-building did not come to an end with the partition
of India and integration of Princely States.” Give any one example to
support the statement.

5.  <fdad dud i nfafaf= 9 efora d@enl 1 58 guTfad fomam 2 i3 T 3ergtn
T | 1

How did the activities of Dalit Panthers influence the Dalit writers ? Give

any one example.

Qug &
SECTION B
6. I % TG ¢uit § Hewhd o Rl o1 fergai 1 Ieerg AT | 1x2=2
teraT
Qe TeSE W TATHT e IR FET g3 ? FHH! &I HH w21 AT ? 1+1=2

Mention any two points of agreement between the member states of
NATO.

OR

When and where was the Eastern Alliance created ? What was its
principal function.

7. TN CAA W@ B H fiw e qea wn srefyet frem AR §><4=2
T A’ &Y B’
(a) ToueRl 3TcIeH 6) AT T IMTHR
(b)  afera Gord i) Y U
(c)  ar-fereft st (i) ST SeHTe o foeg wod
(d) AV fhEM TR WA SMMaIeH (iv)  Wehideh SHIEAl W €A
T 1 ATTHR




Match the facts given in Column ‘A’ with those in Column ‘B’ in a
meaningful manner.

Column ‘A’ Column ‘B’
(a)  Chipko Movement (i)  Right to Information
(b)  Dalit Panthers (i1)) Andhra Pradesh
(c) Anti-Arrack Movement (iii) Fight against discrimination on

the basis of caste

(d) Movement of Mazdoor (iv) Right of Local Communities on

Kisan Shakti Sangathan natural resources

8. oy fAuiur T Uk @ areft | o fovg &I @ deh N | I1x2=2

Give any two arguments against the demand to stop construction of
dams.

9. 3t wia e-Frvear 1 Aifd ® Weer 7E gan, @ fova worifa & @ ufed
BT BT ? 2
arera

YT 3 1968 T AT STER | (TH.H.&.) W gEdier i & R 3R fham 2 2

What would have happened to the world politics if India had not
propagated the policy of non-alignment ?

OR
Why did India refuse to sign the Nuclear Non-Proliferation Treaty (NPT)
of 1968 ?
10. WS § SR IATR HIWC T2 M9 1969 H FT HIH el o faueH & fag
ITER A B | 1x2=2

AT

1975 H TFIU T STdehId 8 VR sh! ST g @@ 7T his & 918 IR
HIfST | 1x9=9

Highlight any two reasons that you think are responsible for the split in
the Congress Party in 1969.

OR

Highlight any two lessons learnt by the people of India from the
Emergency imposed in 1975.
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11.

12.

13.

14.

T us |
SECTION C

1959 H Tofud “‘gaz uidl” hl fommum i gl o) fomiwarst w1 a9

I | Ix4=4

HAAT

1920 € TRt 1952 1 §U WA & YW 3TW IAE deh HEYHE 1l 3% sfeam
foamem 4 o1me aftedql 1 o i |
Describe any four features of the ideology of “Swatantra Party” founded

in 1959.
OR

Describe the changes that took place in the ideology of the Communist
Party of India from 1920 to the first general elections in India in 1952.

foepraefiar <emi 1 e & § fava % 61 fiest &1 3TheH HIT |
Assess the role of the World Bank in helping the developing countries.

“Torga <A1 Trefl Tuer’ @ w1 AU B 2 IS8T hl TEEdT ¥ TR HifT |

What is meant by ‘the protection of global commons’ ? Explain with the
help of examples.

R 1 fager fifd 99M @ ar FE § 9RA & U J9H W, FaEdd 18E
1 YIfEeRT T FUH HIT |

arera
TIAAT o YT, WRA oh! farear Hifa i ywifad s amel fohegl IR il &1 aui

I | Ix4=4

Describe the role of the first Prime Minister of India, Jawaharlal Nehru,
in formulating and implementing the foreign policy of India.

OR

Describe any four factors that influenced the foreign policy of India after

independence.



15. 1975 STUTAehA shi HINUN & J& ~ATUTICIRT AT TEhR o St= HaWal i S
o I fordl = yaet w1 fagemo i | Ix4=4

Analyse any four issues that led to conflict between the judiciary and the
government before the declaration of Emergency in 1975.

16. YT H9 H Th IHEEMC & T S aTell 38ehl fohegl =R SRkl hl
ERIteRl 5‘)”3& | Ix4=4
AYAT
1971 ® STATeY <hl TaaadT o fou Iower uitfeafaai <hi samean hifsu | 4

Explain any four strengths of the European Union that make it an

influential regional organisation.

OR
Explain the circumstances responsible for the liberation of Bangladesh in
1971.
Qug g
SECTION D

17. = fou MU sa@m w1 eYEe A hie R fefafed T 6 3@
e
SR ST B0 Gl & 9R H Ygd AT GAd & d guR
AT e ohl UNUNes I1Yiq UST g i gwen ¥ gl g,
ot weyg 8= gufRd & @Al ¥ 8 | GL&T 1 56 TR & Wak hl
HId his QU o BIdT 8, S 9= BHA shl UHehl St HIYT, TaIdT
3 &R ITEEdr & hegld Yol o foTu Taawr der o 8 |

(i) TS gea ¥ w1 e 7 2
(i) G Sl YT RN i SARE Hifv |
(i) Torel QAR S & Ig o TR HI I & 7d HIS ol alh GsY | 14242=5

AT

591212 7 P.T.0.



f= fou U st w1 eayde TerEd e e freffed wEl % S
faf -

(1)
(ii)

(iii)

Id s T o<l foar geam ufmg f GEET Bl AR R |

e aiwg 1 9o T fOR Wl 7 SEfh 9w Usg 99 6l 3
YT H Ael sl T@I §F ¢ 8 | YA I AT & b 399 gaw
ftwg % whifificayees afa & &1 g8 2 | wRa 1 ds 7 T dfg
F1 fIEar w1 W 98 sorer gfaffiges gnft ok 38 fava-fowett o
SaTeT |HeH e |

& qiwg <hl a1 ol T ot shat T 2

e uftwg 1 R Tt 1 39k faffucaers afe i 39w

TgdTs @ ?

e aftwe # foeprasfiar 2o < ftrest & IR § wra & gfeeshi

%l TS HIfT |

1+2+2=5

Read the passage given below carefully and answer the following

questions :

(i)
(i1)
(iii)

Most of the time, when we read and hear about
security we are talking about traditional, national security
conceptions of security related to dangers from military threats.
The source of this type of danger to security is another country
which, by threatening military action endangers the core values

of sovereignty, independence and territorial integrity.
What is meant by national security ?
Explain the traditional notion of security.

Suggest any two methods to respond to the threat of war

from another country.

OR



Read the passage given below carefully and answer the following
questions :
One of India’s major concerns has been the composition
of the Security Council, which has remained largely static while
the UN General Assembly membership has expanded
considerably. India considers that this has harmed the
representative character of the Security Council. It also argues
that an expanded Council, with more representation, will enjoy
greater support in the world community.

1) Why has the composition of the Security Council been said to
have remained ‘static’ ?

(ii)) How has the static composition of the Security Council
harmed its representative character ?

(iii) Explain India’s view about the role of the developing countries
in the Security Council.

18. = fou MU s w1 eAmyEe A=A hife I’ fefafed T % 3w
fafe .

TOTST ShedTul sl GUHT STIET Sl A F I foham T | TRt
fmrdt & @i & Stfehar & TS § U MU | qey o, TS o |
T 3T T..... | 39 i, Fsiertor 3 3 arfyes fowmarsti i S
feam |

(i) TR fEmea | @ Sy B 2
(i) TRl fEmadt S Tmmfea 3 < st s 6t TR FH vk feam 2
(i) ¥ 19 Fsfiertor it snifde Hfifa w1 Tmeds @ § =1 fa@g 2 e
I o 98 H HI3 g SUYH doh (AT | 1+42+2=5
AT
T for U @ w1 eHYEs TERH Hivie AR fEfiigd Tl % I
fafe .

Te-fue oo S g & SUH UES HEIERET A dTel ¢¥ W A
9 | - Srcie d wifirer stfreptyr 29 Wl ‘sreu fassfia 2w @
ZTl fier o | 39 2u o " ey g Sidies &9 @ iR sarer faeh
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I
i
T qAT AT ST BT TS H IS h oY | TI-FIdT <0 kT AE!
% o & ot srifeies foshre AEaqul o | SR fehrs fohrd o w3 <@
T AT | AT T8 T8 Fehal |
() 3 Ig A o GRA Te-FRU e (NAM) & fohegl g Heemash <3
=& W fafay |
(i) 79 foehfea <o < A ! TS & ITRA & fole I3 g1 alieh ST |

(ii) “feeprss faemm®’ <h1 s7aemon =i Tase il | 142+2=5

Read the passage given below carefully and answer the following

questions :

The old system of social welfare was systematically
destroyed. The withdrawal of government subsidies pushed
large sections of the people into poverty. The middle classes
were pushed to the periphery of society..... Besides,

privatization led to more disparities.
) What is meant by government subsidy ?

(ii)) How did the withdrawal of government subsidy lead the

people into poverty ?

(iii) Do you support or oppose the policy of privatisation ? Support

your answer with any two suitable arguments.

OR

Read the passage given below carefully and answer the following
questions :

The non-aligned countries were more than merely
mediators during the Cold War. The challenge for most of the

non-aligned countries — a majority of them were categorised as

10



the Least Developed Countries (LDCs) — was to be more
developed economically and to lift their people out of poverty.
Economic development was also vital for the independence of
the new countries. Without sustained development, a country
could not be truly free.

(1) Name any two founder countries of Non-Aligned Movement

(NAM) during the Cold War period.
(i1)  Suggest any two methods to lift the people of the Least

Developed Countries out of poverty.

(iii) Explain the concept of ‘sustained development’.

19. 9 fGu T w7 w1 wHgEs rwwEE hifve qon Fefafad s % oI
%ﬁ'\@ﬁ:

A
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() 39 & § g T 9 (TER) | wmea w1 ufaffica s R,
3IgeRT qU AW fafew |

(i) ST Ty 1 gEEE e S I 6 sfide & Aqcd o THe 3T
et gfar = T HIWT |

(Gii) T Toy h 39 e 4 Sicde & e fawE o HE ywifaq

fomam 2 1+2+2=5

Study the cartoon given below carefully and answer the following

questions :

S

591212 17



Note :

20.

) Write the full name of the organisation represented by the tiger in

this cartoon.

(ii)  Explain the dilemma of Sri Lankan leadership in trying to resolve
this ethnic conflict.

(iii) How did this ethnic problem affect the economic growth of
Sri Lanka ?

HET1cTiEd o7 acT giearfaa ahenean & g, Jv7 &1 19 & T W3
The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 19 :

(19.1)  #icThl % QI S FYgET o W IR |

(19.2) i & ST TN ! TS HIT |

(19.3) ST @ud 6 38w 4 sficieht o o7 fomhE ol e guifad
feRarm 2 1+2+2=5

(19.1) Name the two ethnic groups of Sri Lanka.

(19.2) Explain the ethnic conflict of Sri Lanka.

(19.3) How did this ethnic problem affect the economic growth of Sri
Lanka.

f= fou U sEder w1 eYEs e hive o fefdfed sl % W
fafaw
39 YehR IgGA1d ITEA JUITell 1 I & BHAT ... | BHHI HEg
H EHIM 3 TSI gall o UMY @ 8 | T 1989 & &g fopel!
ft got T 2014 T, A T § T TEHA U T BIAT | TEH hg
H TEHYA THAT 1 T IE g3 |

(1) 2014 <lsh @9 AT H fopd Tk gt ol T8 TgHA Ted g3l ?
(i) 39 fo=R & MeHEH TR Y g IT THETE HA-H § 2
(i) WA I FgEATT Jorreht < fohegi g1 Tuni o1 fergerwor iRy | 1+2+42=5
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21.

Read the passage given below carefully and answer the following
questions :

Thus began an era of multi-party system ... .Our
Parliament always had representatives from several political
parties. But after 1989, no single party secured a clear majority
of seats in Lok Sabha till 2014. This development initiated an
era of coalition governments at the Centre.

1) Which political party won a clear majority in the Lok Sabha
elections in 2014 ?

(i1)) In your opinion, what are the two main problems of coalition
governments ?

(iii) Analyse any two merits of the multi-party system in India.

qRa % fou U geHifoe WiEfE (T8 16 W), § 9 TS Wl
@, ®, ©,® do ® g gutan w3 | AN & TS THEH F AGR W
TS 1 g iV 3R A9l IT-GfEdeht § $eh T@l =™, T i T8
AR shl shH TE&AT qAT raI(-od &R, i & T8 qTierehl o &9 4 feifan :

TN <l TS AR
& AT

(1)
(i1)
(iii)
(iv)
)

Gra(-ed AT | TSI hl 911

1) 98 U e v w9 foer o1 fate foam |

(i) 98 TsF S8 1972 ° 3180 ¥ H1e L =T T |

(ifi) 98 TS @l IR HRAE 9 3 1957 § AT THR 478 |

(iv) 1966 T ST 71 ST |

(v) 98 T3 S ‘e M % I SA0 gl G 8 ST 832 | Ix5=5

14



In the given political outline map of India (on page 16), five States have
been marked as @), ®B), ©), © and (E). Identify them on the basis of the
information given below and write their correct names in your
answer-book with the respective serial number of the information used

and the concerned alphabet as per the following format :

Sr. no. of the Concerned | Name of the
information used Alphabet State

6)

(i1)

(iii)

(iv)

v)

1) The State that resisted its merger with the Union of India.
(i1))  The State which was carved out of Assam in 1972.

(iii) The State where the Communist Party of India formed its
Government in 1957.

(iv)  The State formed in 1966.

(v)  The State related to Dairy Cooperative Movement under the name

‘Amul’.

591212 15 P.T.0.
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e
Fig:  FAECIRET 97 #ad FIEETaa qherdal & g, 397 e 21 & €9 W
Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) TrH TS H ‘S A % HATd SH FERN HAGIeH Y& §I A1 ?

(21.2) 1966 § ST 7T foReh T TS w1 AW fARau |

(21.3)  BRA If=d & foh 1 TSAT 1 HTTorR ATH 53T 2

(21.4) 38 T &1 4W fafaw & 1957 § wrdlw wegfee adf 4 o1

THR T8 |
(21.5)  TFGIAT o THY WG H forad <3ft wame 9 2 Ix5=5

(21.1) In which State was the Dairy Cooperative Movement under the
name ‘Amul’ started ?
(21.2) Name any one State which was created in 1966.

(21.3)  Which two States were benefitted the most by the Green
Revolution ?

(21.4) Name the State where the Communist Party of India formed its
government in 1957.

(21.5) How many Princely States were there in India at the time of
Independence ?

@Ug g
SECTION E
22. e 59 % frered & fredl = wfomd @1 v Hifv | Zéx4=6
T
Te-f U SATEIe % T a1 o €9 H, 3 Ig & Tid v it gfafsean =1 quH
T | 6

Describe any four consequences of the disintegration of the Soviet Union.

OR

Describe India’s response to the ongoing Cold War as one of the leaders of
Non-aligned Movement.
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24.

25.

I AHEATSAT 3R [T ol TR BT & UH Hig dF alie sy e @

& 2feh St & s I T /@ 2x3=6
YT

ST TeRieTIeT % THTER q9T USdT 3T@edl i SHIT T@ & i dF dlis

13T | 2x3=6

Suggest any three methods of agitation, to highlight your problems and
demands, which do not disturb the routine life of the people.
OR

Suggest any three methods to accomodate the regional aspirations and
maintain national integration.

1971 % FAEI H S 91 Bl TSR S feam arat foheal 9 ekl 1
fergeryor HIRTY | Iéx4:6

AYaT
25 S, 1975 ! T 1 TMT AW aATel T IR hl =ARETA 38U h
o v wweer g feu o siiface o fasavw hifse | eg 39 siifec @ wET
Toh HEHd @ ? 4+2=6

Analyse any four factors that led the Congress Party to a spectacular win

in 1971 elections.
OR

Analyse the justification given by the Government of India for declaring
National Emergency on the night of 25t June, 1975. How far do you
agree with this justification ?

TAAAAT % UTEIG TS  Guehl W, WA H i qel % Tqcd * fou Ieeerh
foredl ©: HehI I au HINTT | 6x1=6
St

Tgad WA H o1 fohu T feRedl @ il Ui o1 9l hife St Thl I @ |
31 3T W gEW 1 Wi Ieoi@ T S 9gd HH A §U AR TEET AR

fopu U | léx4:6

18



Describe any six factors which were responsible for the dominance of the

Congress Party in India during the first two decades after independence.

OR

Describe any two land reforms introduced in free India which were fairly
successful. Also mention the other two land reforms which were much
less successful and rarely implemented.

26. TGO i @ & forw TSl h et Wy sre-otem e f gwen
forgcrwor Shifs | 6

HAYAT

WA W JeEe0 o USHideh, 3N do ERehlideh THEl 1 3Tehod
I | 2x3=6

Analyse the concept of ‘Common but differentiated responsibilities’ of

States towards the protection of environment.
OR

Assess the political, economic and cultural effects of globalisation on
India.

27. O Wt % ®Y § SmOhH auied 6 freal =R fsivarsti w1 wse Hifvu | léx4=6

AYAT
9T | Alehd hl TATYT shl Ufsham <hl s iy | 6

Explain any four features of the U.S. hegemony as hard power.

OR

Explain the process of establishing democracy in Nepal.

591212 ?



